MPM2D1

Ch5  Exam Review Questions

3. In a play area, a slide has a slope angle of 40( and the horizontal distance of the slide is 10 m. What is the height of the slide?    

6. A helicopter uses a flashlight for searching. The distance from the helicopter to the object is 60 m, and the angle of depression of the line of vision from the helicopter to the object is 65(. What is the horizontal distance from the helicopter to the object?     

7. A tree is 6 m tall and the angle of elevation of the sun is 3(. What is the length of the tree’s shadow?    

12. At school, a set of stairs has a rise of 20 cm for a run of 25 cm. What is the angle of elevation of this set of stairs?



15.   A pole is held in place by a wire that is 40 m long. The wire attached to the top of the pole is secured to the ground 30 m from the foot of the pole. What is the height of the pole?   

21. A 3.2 m ladder is leaning against a vertical wall with its foot 2.0 m away from the wall. Another ladder 4.8 m long is leaning against the wall, parallel to the first ladder. What distance is the foot of the second ladder from the wall?  Draw diagram.           

22.   A cable is connected from the top of a vertical pole that is 10 m tall to a point on the ground that is 8 m away from the foot of the pole. Find, to the nearest degree, the angle of elevation of the cable.

SOLUTIONS

3)  8.4 m     6) 25.4 m  7) 114.5 m   12) 38.7(  15)  26.5 m   21)  3 m

22)  Answer:

Let (A represent the slope angle of the cable line.

tan A = 
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 = 1.25

(A = 51(
The angle of elevation of the cable line is about 51(.
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